Geldilo Code

Instmctions Manua'

Eyxelp(dlo odnytwv - Bedienungsanleitung - Manual de instrucciones
Manuel d’instructions - Manuale di istruzioni - Instrukcja obstugi - Manual de instructiuni
Handleiding -Manual de Instrucdes - Osszeszerelési-Gtmutatd - NIKIIN. TN

ENSELZOELES X FREIT J PL 2L RO ZANL X PT ) HU | HE

2 PLAYERS




N AN

AN

Gelato Code
CONTENTS (1): 1 wooden game board, 1 wooden gelato
stand, 144 flavor tokens, 60 pegs, 1 cotton pouch

HOW TO PLAY: To set up the game, all flavor tokens are mixed up
in a pile in the center of the table. At the beginning of the game,
you agree on the number of rounds (we s dggest 5 or 10 rounds)
and the difficulty mode. For the first round, the player who ate
elato (ice cream) more recently plays first (sets the code: the
avor combination). For the following rounds you take turns in
who sets the code.

On your turn, you secretly pick a flavor combination (code) and put
it on the gelato stand in a way that it is visible only to you. The other
glayer tries to ﬁuess this combination in the fewest tries possible,

y putting a flavor combination in the first game board slot,
waiting for your feedback and then continuing with the next
guesses, until the gelato combination is decoded!

The feedback is given by using the pegs. The beige peg indicates that
the color is correct, but the position is wrong, whereas the brown
peg indicates that both color and position are correct. Once the
gelato combination is decoded, the opponent is awarded as many
points as the number of the empty gelato slots on the game board!
In the end of the game, the player with the most points wins!

According to the age, skill and appetite, you can play in 3 different
modes, as described below:

EASY MODE
* The gelato code should have 4 flavor tokens, choosing from all
8 flavors (8 available colors)
¢ The feedback is given with position accuracy. That means that
the position of a colored peg corresponds to the position of the
referred flavor e.g. if the first flavor token is correct only in color
and the third flavor token is correct, in color and position, then
you should put a beige peg in the first slot and a brown pegin the
third peg slot (2).
* You only play with the first 8 white slots on the game board
(without the brown ones), so if for example the code is found
with the 5th try, then the points awarded are 3!

MEDIUM MODE
¢ The gelato code should have 3 flavor tokens, choosing from
IO?'L 6 flavors (you discard 2 colors and play only with the 6 colors

e

e The feedback is given without position accuracy. That means
that the position of a colored peg doesn’t correspond to the
position of the referred flavor token, and you only give the
information, using the 3 peg slots. If for example the opponent
has(fuessed the first flavor correct in color and position and the
third flavor correct only in color, then you should put a brown
and a beige peg in the peg slots in any way, regardless of the
position of the tokens ( 53

¢ You play with all 10 sIots on the game board (white and brown
ones), so if for example the code is found with the 4th try, then
the points awarded are 6!

DIFFICULT MODE
e The ﬁelato code should have 4 flavor tokens, choosing from
only 6 flavors (you discard 2 colors and play onIy with 6 colors)
-bThe feedback is given without position accuracy, as described
above.
¢ You play with all 10 slots on the game board (white and brown
ones).

NOTES

e The difficult mode might be overwhelming in the beginning, so
you can start by familiarizing yourself with the game by playing
the first 2 modes, before moving to the difficult one.

e For the beginning, we supﬁgest that you keep the gelato code
simple, without any double flavors. And after some practice, you
can add if you want a further element of difficulty, by agreeing in
the beginning of the game that the double flavors are valid and
can be played throughout the game. However, in a gelato code,
only one flavor can be double, so for example, you can have red
pink, brown, brown, but you can’t have red, red rown, brown (4 )
o It is recommended to keep the flavor tokens all together and
shuffled in the center of the table at all times, as grouping them
by color might reveal the code on the gelato stand.

Naywroypidog
MEPIEXOMENA (1): 1 §0Awvo taprd, 1 §0Awo otavr, 144
mAakidla yeuoewy, 60 oTikG, 1 0akoUAAKL armoBnKkeuong
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OAHTIEZ: Ma va otnbel to mayvid, ta makibla yevoewv
QVOKATEUOVTAL KAl GUYKEVIPWVOVTOL OTO KEVTPO TOU TPATE(OU.
YTtV apxn Tou TaViSLo, cupbwvelte otov aplBud Twv YUpwv
rou Ba maiéete (mpoteivovtal 5 1) 10 yupol oe kdBe mavid) Kot
oto enine6o SuokoAaG. ITov IPWTO YUPO, PWTOG Ttailet 0 maikTng
Tou €dbaye O TPdOodATA TIAYWTO! STOUC EMOPEVOUC YUPOUC
nailete eVaMAS.

>tV oepd oag, BAleTe kpudd Evav maywtoypido (ouvbuaopo
YEUGEWV) OTO OTAVT, LE TPOTIO WOTE VA E(VAL 0PATOG LOVO O E0QC,.
O @\\o¢ maikTng mpooTtaBel val LaVTEPEL QUTOV TOV TTaywToypido
pe TG Aydtepeg Suvatég TPOOTIAOElEC, TOMOBETWVTAC Evav
GULVEUQCHO YEVGEWV OTNY PWTN B€0N TOU TAUTAS, TIEPIIEVOVTAG
TO OXOMO 006G Kal GUVEXI{OVTAG He BAON QUTO HE TIG EMOUEVEG
TPOOTIABELEG, LEXPL va arokwdikomotnBet o ypidog!

To oxOALd 0aG YIVETAL LE TNV XPHON TWV OTIKG. To Urel UToSEKVUEL
OTLTO XpWHA lval owotd, oA n B€on eivat AdBog, evw To Kadé
OTIK UTTOSELIKVUEL OTL TOOO TO XPWHA 000 Kal n Béon elvat owotd.
MOAG  amokwdikoronBel 0 cuvdUAOHOE TOU TAYWToU, O
avTinoAog kepSilel 600U TOVTOUG QVTLOTOXOUV OTLG KEVEG BECELG
TOU TAUMAO! 3to Télog Tou mayvidol, o MalKInG peE Toug
TIEPLOCOTEPOUG TIOVTOUG KEPSIlEL!

Avaoya e TNV NAKIQ, TNV IKavOTNTa KaL TV OpeEn, UMope(te va
naiéete oe 3 SladopeTika enineda SuokoAiag, dnwgneplypddovtal
TIOPAKATW:

EYKOAO ENINEAO

e O maywtoypidog mpémetl va amoteheitat and 4 makibla
yeVoEwv, eTAeyovtag amo TiG 8 yeUoeLg (8 Slabgatpa xpwpotay).
e Ta oxoAa Sivovtal pe akpiBela BEong. Autd onpatvel ot n
B€on evog otk avtiotolel otn B€on Tou mMAakidiou yevuong oto
orolo avadépetal. Ma mapadelyua, av LoOvo n Tpitn yevon ival
owaTr, TO00 OTO XPWHA 000 Kal OTn B€on, TOTe TPEMEL va
TOMOBETNOETE éva KadE OTIK oTnV Tpitn B€on (2).

* J€ QUTO TO €TTTESO TAULETE PLOVO HIE TIG TIPWTEG 8 AoTPEG BECELG
Tou TaWmAd (xwpig TG Kadé), omdte av ylo MAPASEHA O
GLVEUAOHOG TWV YEUCEWV HAVTEUTEL GWOTA oTnV 5n mpoomabela,
TOTE OLTIOVTOL TTOU artovEpovTaL eivat 3!

MEZAIO ENINEAO
e O maywtoypidog mpenel va amoteheltat and 3 mAakiSia
VEUOEWV, EMAEYOVTAG QMO pOVO 6 yevoels (Byatete ektog 2
XOWHOTA KAl TTALETE e TAL UTIOAOUTAL 6).
e T oyOAa Sivovtal xwpig akpiBela BEong. Autd onuaivel ot n
B€on evog otk Sev avtiotolyel otn Béon Tou TMAaKLO(oU yeuong
oTo onoio avadpepeTal kat 6lveTal povo n mnpodopia. Av yia
TAPAGELYUA O QVTIMOAOG EXEL LAVTEPEL TN OWOTY) YELON OTNV
TPWTN B€on kat otny Tpitn B€on KOV TO XpWHA, TOTE TIPETEL VAL
TOTOBETAOETE €va KADE KL EVa UME] OTIK [LE OTIOLAGATIOTE OELPA,
avegaptnta arnd v Beon Twv Makbiwy yeuoewv (3).
e Mailete pe 0Aeg TG 10 BECELG TOU TAWTAOG (AOTPEG KAl KADE),
ondte Qv yla mapddelypa o maywtoypidog Bpebel otnv 4n
TPOOTIAOELQ, TOTE OLTIOVTOL TIOU OUTOVEHOVTOL Elval 6!

AYZKOAO EMINEAO
¢ O maywtoypidog mpénel va amoteleitat and 4 miakibla
VEUOEWY, EMAEYOVTAG QMo HOVO 6 yeloels (Byalete ektdg 2
XOWHOTA KAt TIALETE e TaL UTIOAOUTAL 6).
* Ta oxoAla Sivovtal xwplig akpiBela B€ong, Omwe meptypadetat
TPATTAVW.
o MaiZete pe 0Aeg TLG 10 BEoELg TOU TAUTAG (AOTIPEG KAl KADE).

IHMEIQZEIZ
 To 5UOKOAO ETUMESO E(vVaL APKETA ATIAUTNTIKO, OTIOTE UTOPE(TE
va apxloete va efoIKeLWVEDTE TipwTa e To avidt, mailovrag
TaL 2 MPWTA ETUMEDQ, TIPLV TIPOXWPIOETE 0TO SUOKOAO.
e [0 aPxr, TPOTEVOULLE VAl KPATHOETE TOV TtaywToypido amo,
xwpicSut\égyevoelc. Katotnvmopeia, doon “amokwdikomnoinon”
TWV AOXTAPLOTWY TAYWTWY YIVETAL TWO €UKOAN, WTOPE(TE val
OUUPWVACETE, Ao TNV apyr Tou Tavidlo, OTL Uopelte va
TaeTe Kol pe OutAég yeloelg. Mpoooxn OUwe, Ot évav
Taywtoypido, povo pia yevon propet va elvatl Sutry. Mnopeite
SnAadn va xeTe KOKKWVO, pol, Kade, kade, aAd Sev pmopeite va
EXETE KOKKWO, KOKKWVO, KODE, KadE (4).
e JUVLOTATOL VA KPATATE T TAaKISLL yeuong oA pall kat
QVOKATELEVOL OTO KEVTPO TOU TPAmeol kad' OAn v Slapkela
TOoU TaVLBLoU, KaBWG N opasdomoinar Toug KT XpwHaL UTopel
va orokoAUEL ava TIAOX OTLYI TOV GUVEUAGKO HE TOV OTolo
matlete.

Gelato Code Spiel
INHALT (1): 1 Holzspielbrett, 1 Eisstander aus Holz, 144
Geschmacks-Chips, 60 Markierungsstifte, 1 Baumwollbeutel

SPIELREGELN: Zum Spielbeginn werden alle Geschmacks-Chips
gemischt und in der Mitte des Tisches bereitgelegt. Zu Beginn
einigt ihr euch auf die Anzahl der Spielrunden (wir empfehlen 5
oder 10 Runden) und den Schwierigkeitsgrad. In der ersten Runde
beginnt die Person, die zuletzt ein Gelato (Eis/Glace) gegessen hat,
und legt den Code (die Geschmacks-Kombination) fest. In den
folgenden Runden wechselt ihr euch ab, wer den Code vorgibt.

In deinem Zug wahlst du heimlich eine Geschmacks-Kombination
(Code) und platzierst sie auf dem Eisstand so, dass nur du sie sehen
kannst. Der/die Mitspieler/in versucht, die Kombination mit so
wenigen Versuchen wie moglich zu erraten, indem er/sie eine
Kombination im ersten Schlitz des Spielbretts platziert, auf dein
Feedback wartet und dann weiter rat, bis der Code entschlisselt
ist.

Das Feedback erfolgt Gber die Markierungsstifte:
 Der beige Stift zeigt an, dass die Farbe korrekt, aber die Position
falsch ist.
* Der braune Stift zeigt an, dass sowohl Farbe als auch Position
korrekt sind.
Sobald die Gelato-Kombination erraten wurde, erhalt der/die
Ratende so viele Punkte, wie noch leere Waffeln auf dem Spielbrett
Ubrig sind. Am Ende gewinnt die Person mit den meisten Punkten.
Je nach Alter, Fahigkeit und Lust gibt es drei verschiedene
Spielmodi:

EINFACHER MODUS
¢ Der Gelato-Code besteht aus 4 Geschmacks-Chips, die aus
allen 8 Geschméckern (Farben) gewahlt werden.
e Das Feedback erfolgt positionsgenau: Die Position der
I\/Iharkierungsst'ifte entspricht der Position der Geschmacks-
Chips.
e Es werden nur die ersten 8 weilen Facher des Spielbretts
verwendet. Wird der Code beispielsweise beim 5. Versuch
erraten, gibt es 3 Punkte.

MITTLERER MODUS
¢ Der Gelato-Code besteht aus 3 Geschmacks-Chips, die aus 6
Geschmackern (2 Farben werden aussortiert) gewahlt werden.
* Das Feedback erfolgt ohne Positionsgenauigkeit: Die Position
der Markierungsstifte muss nicht der Position der Chips
entsprechen. Es werden die 3 Stiftehalter genutzt.
* Es werden alle 10 Waffeln (weiRe und braune) des Spielbretts
verv¥endet. Wird der Code beim 4. Versuch erraten, gibt es 6
Punkte.

SCHWIERIGER MODUS
¢ Der Gelato-Code besteht aus 4 Geschmacks-Chips, die aus 6
Geschmdckern (2 Farben werden aussortiert) gewahlt werden.
e Das Feedback erfolgt ohne Positionsgenauigkeit wie im
mittleren Modus.
¢ Es werden alle 10 Waffeln (weiRe und braune) des Spielbretts
verwendet.

HINWEISE
 Der schwierige Modus kann anfangs tiberfordernd sein. Es wird
empfohlen, mit den ersten beiden Modi zu beginnen.
e Zu Beginn sollte der Gelato-Code ohne doppelte
Geschmacksrichtungen gehalten werden. Spater konnt ihr
vereinbaren, dass ein Geschmackschip doppelt vorkommen darf.
Jedoch darf nur eine Geschmacksrichtung doppelt sein, z. B. rot,
pink, braun, braun ist erlaubt, aber nicht rot, rot, braun, braun.
 Es wird empfohlen, die Geschmacks-Chips wahrend des Spiels
gemischt in der Tischmitte zu belassen, da eine Sortierung nach
Farben den Code auf dem Eisstand verraten kdnnte.

Cadigo de Helado

CONTENIDO (1): 1 tablero de juego de madera, 1 soporte de
madera para helado, 144 fichas de sabor, 60 clavijas, 1 bolsita
de algodon

COMO SE JUEGA: Para empezar el juego, se mezclan todas las
fichas de sabor en una pila en el centro de la mesa. Al principio del
juego, se acuerda el nimero de rondas (sugerimos 5 o 10 rondas)
y el modo de dificultad. En la primera ronda, juega primero el
jugador que haya comido helado mds recientemente (establece el
codigo: la combinacion de sabores). En las siguientes rondas, se

GELRTO CODE 3



turnan para determinar quién establece el cédigo.

En tu turno, eliges en secreto una combinacion de sabores (cddigo)
y la colocas en el puesto de helados de forma que solo tu la puedas
ver. El otro jugador intenta adivinar esta combinacion en el menor
numero de intentos posible, colocando una combinacién de
sabores en la primera ranura del tablero de juego, esperando tu
respuesta y luego continuando con las siguientes conjeturas,
jhasta que se descodifique la combinacion de helados!

La respuesta se da mediante el uso de las clavijas. La clavija beige
indica que el color es correcto, pero la posicién es incorrecta,
mientras que la clavija marrén indica que tanto el color como la
osicion son correctos. Una vez descifrada la combinacion de
elado, el oponente recibe tantos puntos como el nimero de
ranuras de helado vacias en el tablero de juego. Al final del juego,
jel jugador con mas puntos ganal!

Segun la edad, la habilidad y el apetito, puedes jugar en 3 modos
diferentes, como se describe a continuacion:

MODO FACIL

e El cddigo del helado debe tener 4 fichas de sabor, a elegir entre
los 8 sabores (8 colores disponibles)

* La retroalimentacién se proporciona con precision de posicion.
Esto significa que la posicién de una ficha de color corresponde
a la posicion del sabor al que se hace referencia, por ejemplo, si
la ﬁrimera ficha de sabor es correcta solo en color y la tercera
icha de sabor es correcta, en color y posicién, entonces debes
colocar una ficha beige en la primera ranura y una ficha marrén
en la tercera ranura (2).

e Solo juegas con las prlmeras 8 ranuras blancas en el tablero de

juego esm%as marrones), por lo que si, por ejemplo, el codigo se
encuentra con el quinto |ntento jlos puntos otorgados son 3!

MODO MEDIO

e El codigo del helado debe tener 3 fichas de sabor, a elegir entre
solo 6 sabores (descartas 2 colores y juegas solo con los 6 colores
restantes)

* La retroalimentacion se proporciona sin precision de posicion.
Esto significa que la posicion de una ficha de color no se
corresponde con la posicion de la ficha de sabor a la que se hace
referencia, y solo se proporciona la informacion, utilizando las 3
ranuras de fichas blancas. Si, por ejemplo, él oponente ha
adivinado correctamente el colory la posicion del primer sabory
el tercer sabor solo ha acertado en el color, entonces se debe
colocar una ficha marrén y una beige en las ranuras de las fichas
de cualquier manera, independientemente de la posicion de las
fichas (3).

¢ Se juega con las 10 ranuras del tablero de juego (blancas y
marrones), por lo que si, por ejemplo, se encuentra el cddigo con
el cuarto intento, ilos puntos otorgados son 6!

MODO DIFICIL
e El codigo de helado debe tener 4 fichas de sabor, para elegir
entre solo 6 sabores (descartas 2 colores y juegas solo con 6
colores)
e La retroalimentacion se da sin precision de posicién, como se
describio anteriormente.
¢ Juegas con las 10 ranuras en el tablero de juego (blancas y
marrones).

NOTAS

¢ El modo dificil puede ser abrumador al Frincipio, por lo que
puedes comenzar familiarizdndote con el juego jugando los
primeros 2 modos, antes de pasar al modo dificil.

e Para comenzar, te sugerimos que mantengas el codigo de
helado simple, sin sabores dobles. Y después de un poco de
prdctica, puedes agregar, si lo deseas, un elemento de dificultad
adicional, acordando al comienzo del juego que los sabores
dobles son vilidos y se pueden jugar durante todo el juego. Sin
embargo, en un codigo de heﬂ § solo un sabor puede ser
doble, por lo que, por ejemplo, puedes tener rojo, rosa, marrén,
marrdn, pero no puedes tener rojo, rojo, marrén, marron (4).

¢ Se recomienda mantener las fichas de sabor todas juntas y
mezcladas en el centro de la mesa en todo momento, ya que
agruparlas por color podria revelar el cédigo del puesto de helado.

Gelato Code

CONTENU (1): 1 plateau de jeu en bois, 1 support de gelato
en bois, 144 jetons de saveur, 60 pions beige ou marron, 1
sac de de coton

COMMENT JOUER: Placer tous les jetons de saveur mélangés au
centre de la table. Au début de la partie, vous vous mettez d'accord
sur le nombre de tours a jouer (nous suggérons 5 ou 10 tours) et
sur le mode de difficulté. Pour le premier tour, c'est le joueur qui a
mangé le plus récemment du gelato (de la glace) qui joue en
premier (il choisit une combinaison de saveurs) le code gelato.
Pour les autres tours, vous jouez a tour de role.

Vous choisissez secretement une combinaison d'arémes (code) et
vous la placez sur le support de gelato pour que vous soyez le seul
avoir la combinaison choisit. L'autre joueur essaie de deviner cette
combinaison en plagant une combinaison d'arémes sur le premier
emplacement du plateau de jeu.

Vous utilisez les pions pour donner I'information. Le pion beige
indique que la couleur est correcte, mais que la position est
erronée, tandis que le pion marron indique que la couleur et la
position sont toutes les deux correctes. Le joueur continue avec
d’autres suppositions de gelato, jusqu'a ce que la combinaison soit
décodée! il'y a un minimum d’essai. Une fois la combinaison de
gélato décodée, I'adversaire recoit autant de points que le nombre
d'emplacements de gélatines vides sur le plateau de jeu. Ala fin de
la partie, le joueur qui a le plus de points gagne.

En fonction de I'age, des compétences et de 'appétit, vous pouvez
jouer dans 3 modes différents, comme décrit ci-dessous :

MODE SIMPLE
e Le code gelato doit comporter 4 jetons de saveur a choisir
parmi les 8 saveurs (couleurs disponibles)
® Pour confirmer la bonne position du gelato. Exemple: si le
premier jeton de saveur est correct par sa couleur vous devez
placer un pion beige et le troisieme jeton de saveur est correct
par sa couleur et sa position, vous devez placer un pion marron
dans le troisieme emplacement (fig.2).
 Sivous jouez qu’avec le 8 premiers emplacements blancs. (Si
on ne sert pas des emplacements marrons). Sile code de saveur
est trouvé au 5 emplacements, alors les points attribués sont de
3.

MODE MEDIUM

e Le code de gelato doit avoir 3 jetons de saveur parmi seulement
6 saveurs disponibles. Donc vous enlever 2 de couleur de gelato.
e Le feedback est donné sans préciser la bonne position et la
couleur. Un pion marron correspond a la saveur et la position. Un
pion beige correspond a la saveur sans donner le bon ordre de
posit‘ion%

o VouSJouez avec les 10 emplacements du plateau de jeu (blancs
et bruns) donc si le code est trouvé au 4eme essai, les points
attribués sont de 6!

MODE DIFFICILE (VOIR NOTE)
e Le code de gelato doit avoir 4 jetons de saveur, donc 6 saveurs
seulement. Vous enlevez 2 saveurs de gelato. Vous pouvez
doubler les saveurs.
o Le feedback est donné sans précision pour les pions comme
décrit au mode medium. Les points sont calculés de la méme
fagon que le mode médium.
E)Vouijouez avec 10 emplacements du plateau de jeu (blancs et

runs

NOTES
¢ Le mode difficile peut s'avérer dur. Il est conseillé de jouer aux
deux premieres modes avant de passer au mode difficile.
* \Jous pouvez vous débutez avec les deux premiers modes pour
vous familiariser avant de passer au code difficile. Pour le mode
difficile, ovous pouvez avoir rouge, rose, marron, marron et n'est
pas accepte rouge, rouge, marron, marron (fig. 4)
* |l est recommandé de garder les jetons de saveur ensemble et
de les mélanger a tout moment, pour ne pas les regrouper par
couleur pour ne pas révéler le cocf de gelato choisit.

Gelato Code

CONTENUTO (1): 1 tavola da gioco in legno, 1 stand del
gelato in legno, 144 gettoni gusto, 60 pioli, 1 sacchetto di
cotone

COME GIOCARE: Per preparare il gioco, mescola tutti i gettoni
gusto in una pila al centro del tavolo. All'inizio della partita, si
decide il numero di round da giocare (si consigliano 5 o 10) e il
livello di difficolta. Nel primo round, inizia il giocatore che ha
mangiato il gelato piu di recente (crea il codice: la combinazione di
gustg Nei round successivi, il turno di creare il codice passa a turno

SVOORA-TSIRONIS S.A. ¢ 3rd kim. Thermi- Tagarades, 57 001, Thessaloniki, Greece
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tra i giocatori.

Nel tuo turno, scegli segretamente una combinazione di gusti
(codice) e la posizioni sullo stand del gelato in modo che solo tu
possa vederla. L'altro giocatore deve cercare di indovinare la
combinazione con il minor numero di tentativi possibile, inserendo
una combinazione di gusti nella prima slot della tavola da gioco,
aspettando il feedback e continuando fino a decifrare la
combinazione esatta!

Il feedback viene fornito utilizzando i pioli:
¢ Piolo beige: indica che il colore e corretto, ma la posizione &
sbagliata.
¢ Piolo marrone: indica che sia il colore che la posizione sono
corretti.

Una volta decifrata la combinazione del gelato, I'avversario riceve
tanti punti quanti sono gli spazi vuoti rimasti sulla tavola da gioco!
Alla fine della partita, vince chi ha totalizzato pit punti.

A seconda dell'eta, delle abilita e della voglia di sfida, il gioco puo
essere giocato in 3 modalita diverse, descritte di seguito:

MODALITA FACILE
e La combinazione del gelato deve avere 4 gettoni gusto,
scegliendo tra 8 gusti disponibili (8 colori diversi).
e || feedback viene dato con precisione di posizione: il piolo
colorato corrisponde alla posizione esatta del gettone gusto. Ad
esempio, se il primo gettone e corretto solo nel colore e il terzo e
corretto sia nel colore che nella posizione, si posiziona un piolo
beige nella prima slot e un piolo marrone nella terza slot.
e Si gioca solo con i primi 8 spazi bianchi della tavola da gioco
(senza quelli marroni). Ad esempio, se il codice viene indovinato
al 5° tentativo, il giocatore guadagna 3 punti.

MODALITA MEDIA

e La combinazione del gelato deve avere 3 gettoni gusto,

scegliendo tra 6 gusti disponibili (2 colori vengono scartati).

e || feedback viene dato senza precisione di posizione: i pioli

indicano solo la correttezza dei colori, senza specificare la
osizione esatta. Si usano 3 slot per i pioli. Ad esempio, se
‘avversario ha indovinato il primo gusto correttamente in colore

e posizione, e il terzo gusto solo nel colore, si posiziona un piolo

malﬁrone e un piolo beige in qualsiasi posizione tra gli slot per i

pioli.

¢ Sj gioca con tutti i 10 spazi della tavola da gioco (bianchi e

marroni). Se il codice viene trovato al 4° tentativo, il giocatore

ottiene 6 punti.

MODALITA DIFFICILE
e La combinazione del gelato deve avere 4 gettoni gusto,
scegliendo tra 6 gusti disponibili (2 colori vengono scartati).
o || feedback viene dato senza precisione di posizione, come nella
modalita media.
e Si gioca con tutti i 10 spazi della tavola da gioco (bianchi e
marroni).

NOTE

¢ La modalita difficile potrebbe risultare complessa all'inizio,
quindi si consiglia di iniziare con le prime due modalita prima di
affrontarla.

e Per i primi turni, si suggerisce di mantenere il codice del gelato
semplice, evitando gusti doppi. Dopo un po' di pratica, si puc
aggiungere un ulteriore elemento di difficolta, stabilendo che i
gusti doppi siano ammessi per tutta la partita. Tuttavia, in un
codice gelato, solo un singolo gusto puo essere duplicato. Ad
esempio, una combinazione valida & rosso, rosa, marrone,
marrone, mentre rosso, rosso, marrone, marrone non &
ammessa.

« Si consiglia di tenere tutti i gettoni gusto mescolati al centro del
tavolo, poiché  raggrupparli per colore potrebbe
involontariamente rivelare il codice sullo stand del gelato.

Gra Gelato Code
ZAWARTOSC (1): 1 drewniana plansza do gry, 1 drewniany

stojak na lody, 144 zetony smakow, 60 kotkow, 1 bawetniany
woreczek

JAK GRAC: Aby przygotowac gre, wszystkie zetony smakéw nalezy
wymieszac i utozy¢ w stosie na srodku stotu. Na poczatku gry gracze
ustalajg liczbe rund (zalecamy 5 lub 10) oraz poziom trudnosci. W
pierwszej rundzie rozpoczyna gracz, ktdry ostatnio jadtlody —to on

ustala kod lodowy (kombinacje smakéw). W kolejnych rundach
gracze na zmiane ustalajg kod.
Podczas swojej tury W}i ierasz w tajemnicy kombinacje smakéw i
umieszczasz jg na stojaku na lody w taki sposéb, aby byfa widoczna
tylko dla ciebie. Drugi gracz prébuje odgadnac ten kod, wykonujac
kolejne proby — umieszcza kombinacje smakéw w pierwszym
rzedzie na planszy, czeka na informacje zwrotng i kontynuuje
zgadywanie, az uda mu sie odszyfrowac kod lodowy. Informacja
zwrotna przekaszana jest za Eomocq kotkow:

E)fBSiowy kotek oznacza, ze kolor jest poprawny, ale pozycja jest

edna.
* Brazowy kotek oznacza, ze zaréwno kolor, jak i pozycja sg
poprawne.

Kiedy kod lodowy zostanie rozszyfrowany, przeciwnik otrzymuje
tyle punktow, ile pozostato pustych miejsc na planszy. Na koniec gry
wygrywa gracz z najwieksza liczba punktéw.

TRYB tATWY
¢ Kod lodowy sktada sie z 4 zetonéw smakow, wybieranych
sposrod 8 dostepnych kolorow.
* Informacja zwrotna podawana jest z zachowaniem doktadnosci
pozycji. Oznacza to, ze kotek umieszcza sie na tej samej pozycji, co
sprawdzany smak. Przyktadowo, jesli pierwszy Zzeton jest
poprawny tylko pod wzgledem koloru, a trzeci jest poprawny
zarowno pod wzgledem koloru, jak i pozycji, nalezy umiescic
bezowy kotek w Fierwszym miejscu i bragzowy kotek w trzecim.
* Gra toczy sie tylko na pierwszych 8 biatych miejscach na planszy
(bez brazowych). Jedli kod zostanie odgadniety za 5. razem,
przeciwnik zdobywa 3 punkty.

TRYB SREDNI

¢ Kod lodowy sktada sie z 3 zetonéw smakow, wybieranych
sposrod 6 dostepnych koloréw (2 kolory sa odrzucane przed gra).
¢ Informacja zwrotna podawana jest bez doktadnosci pozycji.
Oznacza to, ze kotki umieszcza sie losowo w 3 slotach, bez
wzgledu na to, ktére smaki byty poprawne. Jesli przeciwnik
odgadt pierwszy smak poprawnie (zarowno kolor, jak i pozycje)
oraz trzeci poprawnie tylko pod wzgledem koloru, to w
dowolnym miejscu nalezy umiesci¢ jeden brazowy i jeden
bezowy kotek.

* Gra toczy sie na wszystkich 10 miejscach na planszy (biatych i
brazowych). Jesli kod zostanie odgadniety za 4. razem, gracz
zdobywa 6 punktéw.

TRYB TRUDNY
¢ Kod lodowy sktada sie z 4 zetonéw smakow, wybieranych
sposrod 6 dostepnych koloréw (2 kolory sg odrzucane przed gra).
 Informacja zwrotna podawana jest bez doktadnosci pozycji, jak
w trybie $rednim.
¢ Gra toczy sie na wszystkich 10 miejscach na planszy (biatych i
brazowych).

DODATKOWE UWAGI
 Tryb trudny moze by¢ wymagajacy na poczatku, dlatego warto
zacza¢ od dwoch tatwiejszych trybdw, zanim sie na niego
zdecydujesz.
* Na poczatku gry zalecamy ustalanie prostych kodéw lodowych,
bez ﬁowtarzajacych sie smakow. Po nabraniu wprawy mozecie
zwiekszy¢ poziom trudnosci, uzgadniajac, ze kod moze zawierac¢
podwajny smak. Jednak w jednym kodzie tylko jeden smak moze
sie powtdrzyé — np. kod moze sktadac sie z czerwonego,
rozowego, brazowego i bragzowego Zetonu, ale nie z dwoch
czerwonych i dwdch brazowych.
e Zetony smakoéw powinny by¢ przechowywane w losowym
stosie na $rodku stofu. Grupowanie ich wedtug koloréw moze
przypadkowo ujawnic¢ kod znajdujacy sie na stojaku na lody.

Jocul Inghetata - Combinatii de arome

CONTINUT (1): tabla de joc din lemn, un stand de inghetata
din lemn, 144 de tokenuri arome, 60 de tepuse, un saculet
din bumbac

CUM SE JOACA: Pentru a pregati jocul, toate tokenurile arome se
amestecd intr-o gramada in mijlocul mesei. La inceputul jocului, se
stabileste numarul de runde (se sugereaza 5 sau 10 runde) si
gradul de dificultate. In prima rundd, jucdtorul care a mancat cel
mai recent inghetatd joaca primul (seteaza codul: combinatia de
arc()jmle). In rundele urmatoare, se schimba jucatorii care seteaza
codul.

La randul sau, fiecare jucator alege in secret o combinatie de
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arome (codul) si o pune pe standul de inghetata astfel incat sa fie
vizibila doar pentru el. Celdlalt jucdtor incearcd sa ghiceasca
aceastd combinatie din cat mai putine incercari, punand o
combinatie de arome in primul slot al tablei de joc, asteptand
feedback-ul adversarului si continuand cu urmdtoarele ghiciri pand
cand combinatia de inghetata este descifrata!

Feedback-ul se ofera folosind tepusele. Tepusa bej indica faptul cd
aroma este corectd, dar pozitia este gresita, iar tepusa maro indica
faptul cd atat aroma, cat si pozitia sunt corecte. Dupd ce combinatia
de inghetata este descifratd, adversarul primeste atatea puncte
cate sloturi de inghetata goale sunt pe tabla de joc! La finalul
jocului, jucatorul cu cele mai multe puncte castiga!

Tn functie de varst3, abilitati si apetit, poti juca in 3 moduri diferite,
asa cum sunt descrise mai jos:

MODUL USOR

e Codul de inghetata trebuie sa aibad 4 tokenuri arome, alegand
din toate cele 8 arome (8 culori disponibile)

¢ Feedback-ul se ofera cu precizie pe pozitie. Asta inseamnad cd
pozitia unei tepuse colorate corespunde pozitiei aromei la care
se referd. De exemplu, daca primul token aroma este corect doar
la culoare si al treilea token aroma este corect atat la culoare cat
si la pozitie, atunci trebuie pozitionatd o tepusd bej in primul slot
si 0 tepusa maro in al treilea slot (2).

e Se joaca doar cu primele 8 sloturi albe de pe tabla de joc (fara
cele maronii), deci dacd, de exemplu, codul este ghicit la a 5-a
ncercare, punctele acordate sunt 3!

MODUL MEDIU
¢ Codul de inghetata trebuie sa aiba 3 tokenuri arome, alegand
doar din 6 arome (se elimina 2 culori si se joacd doar cu cele 6
culori rdmase)
¢ Feedback-ul se ofera fara precizie pe pozitie. Asta inseamna cd
pozitia unei tepuse colorate nu corespunde pozitiei tokenului
aroma la care se referd, iar informatia este oferita folosind cele 3
sloturi de tepuse. De exemplu, daca adversarul a ghicit prima
aroma corect la culoare si pozitie si a treia aroma corect doar la
culoare, atunci trebuie pozitionatd o tepusd maro si o tepusd bej
in sloturile de tepuse, indiferent de pozitia tokenurilor (3).
e Se joacd cu toate cele 10 sloturi de pe tabla de joc (cele albe si
cele maronii), deci dacd, de exemplu, codul este ghicit la a 4-a
ncercare, punctele acordate sunt 6!

MODUL DIFICIL
e Codul de inghetata trebuie sa aiba 4 tokenuri de arome,
alegl'and)din doar 6 arome (se elimina 2 culori si se joaca doar cu
6 culori
e Feedback-ul se ofera fara precizie pe pozitie, asa cum este
descris mai sus.
e Se joacd cu toate cele 10 sloturi de pe tabla de joc (cele albe si
cele maronii).

NOTE
* Modul dificil poate fi coplesitor la inceput, asa ca poti incepe sd
te familiarizezi cu jocul jucand in primele 2 moduri, inainte de a
trece la modul dificil.
* Pentru inceput, iti sugeram sa pastrezi codul de inghetata
simplu, fara arome dublate. Dupa cateva runde de practica, poti
adduga, daca vrei, un element suplimentar de dificultate,
stabilind de la inceputul jocului ca pot fi folosite aromele dublate
pe parcursul jocului. Totusi, intr-un cod de inghetata, doar o
singura aroma poate fi dublatd, de exemplu, poti avea rosu, roz,
maro, maro, dar nu poti avea rosu, rosu, maro, maro (4).
e Se recomandd sa pastrezi toate tokenurile arome amestecate si
centralizate in mijlocul mesei pe tot parcursul jocului, deoarece
gruparea acestora pe culori ar putea dezvalui codul de pe standul
de inghetata.

Gelato Code spel
INHOUD (1): 1 houten spelbord, 1 houten gelato-kraam, 144
smaakfiches, 60 pinnen, 1 katoenen zakje

HOE TE SPELEN: Om het spel op te zetten, worden alle smaakfiches
in een stapel in het midden van de tafel gehusseld. Aan het begin
van het spel spreek je het aantal rondes af (we raden 5 of 10
rondes aan) en de moeilijkheidsgraad. Voor de eerste ronde speelt
de speler die het laatst gelato (ijs) heeft gegeten als eerste (stelt de
code in: de smaakcombinatie). Voor de volgende rondes wissel je
af wie de code instelt.

Om het spel op te zetten, worden alle smaakfiches in een stapel in

het midden van de tafel gemixt. Aan het begin van het spel spreek
je het aantal rondes af (we raden 5 of 10 rondes aan) en de
moeilijkheidsgraad. Voor de eerste ronde speelt de speler die het
laatst gelato (ijs) heeft gegeten als eerste (stelt de code in: de
smaakcombinatie). Voor de volgende rondes wissel je om de beurt
wie de code instelt.

Tijdens jouw beurt kies je in het geheim een smaakcombinatie
(code) en leg je deze op de gelato-kraam op een manier dat alleen
jij hem kunt zien. De andere speler probeert deze combinatie in zo
min mogelijk pogingen te raden door een smaakcombinatie in de
eerste ileuf van het spelbord te leggen, te wachten op jouw
feedback en dan door te gaan met de volgende pogingen, totdat
de gelato-combinatie is gedecodeerd!

De feedback wordt gegeven door de pinnen te gebruiken. De beige
pinnen dgeven aan dat de kleur correct is, maar de positie is
verkeerd, terwijl de bruine pinnen aangeven dat zowel de kleur als
de positie correct zijn. Zodra de gelato-combinatie is gedecodeerd,
krijgt de tegenstander evenveel punten als het aantal lege gelato-
slots op het spelbord! Aan het einde van het spel wint de speler
met de meeste punten!

Afhankelijk van de leeftijd, vaardigheid en eetlust kun je in 3
verschillende modi spelen, zoals hieronder beschreven:

MAKKELUKE UITVOERING
 De gelato-code moet 4 smaaktokens hebben, waarbij je uit alle
8 smaken kunt kiezen (8 beschikbare kleuren)
* De feedback wordt gegeven met positienauwkeurigheid. Dat
betekent dat de positie van een gekleurde pin overeenkomt met
de positie van de genoemde smaak, bijvoorbeeld als de eerste
smaaktoken alleen qua kleur correct is en de derde smaaktoken
qua kleur en positie correct is, dan moet je een beige pin in de
eerste sleuf plaatsen en een bruine pin in de derde pinsleuf (2).
* Je speelt alleen met de eerste 8 witte sleuven op het spelbord
(zonder de bruine), dus als de code bijvoorbeeld bij de 5e poging
wordt gevonden, dan zijn de toegekende punten 3!

MIDDELMATIGE UITVOERING
¢ De gelato-code moet 3 smaaktokens hebben, waarbij je uit
slechts 6 smaken kunt kiezen (je gooit 2 kleuren weg en speelt
alleen met de 6 overgebleven kleuren)
* De feedback wordt gegeven zonder positienauwkeurigheid.
Dat betekent dat de positie van een gekleurde pin niet
overeenkomt met de positie van de genoemde smaaktoken, en
je geeft alleen de informatie, met behulp van de 3 pin-slots. Als
de tegenstander bijvoorbeeld de eerste smaak correct heeft
geraden in kleur en positie en de derde smaak alleen correct in
kleur, dan moet je op welke manier dan ook een bruine en een
beige pin in de pin-slots plaatsen, ongeacht de positie van de
tokens (3).
e Je speelt met alle 10 slots op het spelbord (witte en bruine),
dus als bijvoorbeeld de code wordt gevonden met de 4e poging,
dan zijn de toegekende punten 6!

MOEILUKE UITVOERING
¢ De gelato-code moet 4 smaaktokens bevatten, waarbij je uit
slechts 6 smaken kunt kiezen (je gooit 2 kleuren weg en speelt
alleen met 6 kleuren)
* De feedback wordt gegeven zonder positienauwkeurigheid,
zoals hierboven beschreven.
o Je speelt met alle 10 slots op het spelbord (witte en bruine).

OPMERKINGEN
* De moeilijke modus kan in het begin overweldigend zijn, dus je
kunt beginnen met jezelf vertrouwd te maken met het spel door
de eerste 2 modi te spelen, voordat je naar de moeilijke modus
gaat.
* Voor het begin raden we je aan om de gelato-code eenvoudig
te houden, zonder dubbele smaken. En na wat oefening kun je,
als je dat wilt, een extra element van moeilijkheid toevoegen
door aan het begin van het spel overeen te komen dat de
dubbele smaken geldig zijn en gedurende het hele spel kunnen
worden gespeeld. In een gelato-code kan echter slechts één
smaak dubbel zijn, dus je kunt bijvoorbeeld rood, roze, bruin,
(br)uin hebben, maar je kunt niet rood, rood, bruin, bruin hebben
4).

¢ Het is aan te raden om de smaakfiches altijd bij elkaar te

houden en in het midden van de tafel te schudden. Als u ze

namelijk op kleur groepeert, kan de code op de ijskraam

zichtbaar worden.
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Jogo Gelato Code

CONTEUDOS (1): 1 tabuleiro de jogo em madeira, 1 carrinho
de gelados em madeira, 144 fichas de sabores, 60 pinos, 1
bolsa de algoddo

COMO JOGAR: Para preparar o jogo, todas as fichas de sabores
sdo misturadas e colocadas no centro da mesa. No inicio do jogo,
concorda-se com o numero de rodadas (sugere-se 5 ou 10
rodadas) e o modo de dificuldade. Para a primeira rodada, o
jogador que comeu gelado mais recentemente joga primeiro
(define o codigo: a combinagdo de sabores). Nas rodadas
seguintes, alternam-se os jogadores que definem o codigo.

Na sua vez, escolha secretamente uma combinacdo de sabores
(codigo) e coloque-a no carrinho de gelados de forma a que s6
vocé possa ver. O outro jogador tenta adivinhar esta combinagdo
no menor numero de tentativas possivel, colocando uma
combinagdo de sabores no primeiro espago do tabuleiro de jogo,
esperando pelo seu feedback e depois continuando com os
proximos palpites, até que a combinacdo de gelados seja
decodificada!

O feedback é dado usando os pinos. O pino bege indica que a cor
estd correta, mas a posicdo esta errada, enquanto o pino castanho
indica que tanto a cor como a posi¢do estdo corretas. Uma vez que
a combinacdo de gelados seja decodificada, o oponente ganha
tantos pontos quantos os espagos vazios de gelados no tabuleiro
de jogo! No final do jogo, o jogador com mais pontos vence!

De acordo com a idade, habilidade e apetite, pode-se jogar em 3
modos diferentes, conforme descrito abaixo:

MODO FACIL

*0 cédigo de gelados deve ter 4 fichas de sabores, escolhendo

entre todos os 8 sabores (8 cores disponiveis)

¢ O feedback é dado com precisdo de posicdo. Isso significa que
osicdo do pino colorido corresponde a posicdo do sabor

referido, por exemplo, se o primeiro token de sabor estiver

correto apenas na cor e o terceiro token de sabor estiver correto,

em cor e posicdo, entdo deve-se colocar um pino bege no

primeiro espago e um pino castanho no terceiro espago para

pinos.

e Joga-se apenas com 0s primeiros 8 espagos brancos no

tabuleiro de jogo (sem os castanhos), entdo, por exemplo, se o

g(l')digo for descoberto na 52 tentativa, os pontos atribuidos sdo

MODO MEDIO
¢ O cddigo de gelados deve ter 3 fichas de sabores, escolhendo
apenas entre 6 sabores Sdescar‘cam—se 2 cores e joga-se apenas
com as 6 cores restantes
O feedback é dado sem precisdo de posicdo. Isso significa que
a posigdo do pino colorido ndo corresponde a posicdo do token
de sabor referido, e apenas se da a informagdo usando os 3
espacos para pinos. Por exemplo, se o adversério adivinhou
corretamente o primeiro sabor em cor e posicdo e o terceiro
sabor apenas em cor, entdo deve-se colocar um pino castanho e
um pino bege nos espagos para pinos de qualquer maneira,
independentemente da posicdo dos tokens.(?(j.
e Joga-se com todos os 10 espa'fos no tabuleiro de jogo (brancos
e castanhos), entdo, por exemplo, se o cédigo for descoberto na
42 tentativa, 0s pontos atribuidos sdo 6!

MODO DIFICIL
¢ O codigo de gelados deve ter 4 fichas de sabores, escolhendo
apenas entre 6 sabores.
¢ O feedback é dado sem precisdo de posigdo.
e Joga com todos os 10 espagos (brancos e castanhos).

NOTAS

¢ O modo dificil pode ser avassalador noinicio, entdo recomenda-
se familiarizar-se com o jogo jogando os primeiros 2 modos,
antes de passar para o modo dificil.

 Para comegar, sugerimos que mantenham o cédigo de gelados
simples, sem sabores duplicados. Apds alguma pratica, podem
adicionar, se desejarem, um elemento adicional de dificuldade,
acordando no inicio do jogo que os sabores duplicados sdo
validos e podem ser jogados durante todo o jogo. No entanto,
num codigo de gelados, apenas um sabor pode ser duplicado;
por exemplo, podem ter vermelho, rosa, castanho, castanho,
mas ndo podem ter vermelho, vermelho, castanho, castanho.

e Recomenda-se manter as fichas de sabor todas juntas e
embaralhadas no centro da mesa em todos os momentos, pois

agrupa-las por cor pode revelar o codigo no carrinho de gelados.

Fagylaltkod tarsasjaték
TARTALOM (1): 1 fa jatéktabla, 1 fa fagylaltallvany, 144
izkorong, 60 jelz&pecek, 1 vaszonsziityd

JATEKSZABALY: A jaték elGkészitésekor az 6sszes izkorongot
Gsszekeveritek és az asztal kézepére helyezitek. A jaték elején
allapodjatok meg a partik szamaban (példaul 5 vagy 10 parti) és a
nehézsegi fokozatban. Az els6 korben az a jatekos kezd, aki
legutdbb evett fagylaltot, 6 allitja be a kddot: az izkombinaciét. A
kovetkezd partik soran felvaltva allitjatok be a kédot.

Ajatékot kezd§ jatékos (kddolo) titokban kivalaszt egy izkombinaciot
(kodot), és Ugy helyezi el a fagylalta’llva’nYon, hogy csak & lassa. A
masik jatékos (tippeld) meEproba'I'a kitalalni ezt a kombindcidt a
lehetd legkevesebb prébal oza’ssaf, ugy, hogy egy izkombinaciot
helyez a jatéktabla els6 helyére. Ezutan a kodot bedllitd jatékos
visszajelzest ad a tipp helyességérdl. A visszajelzés alapjan a tippeld
jatékos folytatja tovabbi probalkozésokkal, amig meg nem tudja
fejteni a kodot!

A visszajelzést a jelz6peckek segitségével adjatok. A bézs pecek azt
jelzi, hogy a szin helyes (van ilyen szin a kodban), de a pozicidja
rossz, mig a barna pecek azt jelzi, hogy mind a szin, mind a pozicié
helyes. Ha sem a szin, sem a pozicid6 nem egyezik, az adott
pecekhelyet Uresen kell ha%]ynL A sikeres megfejtésért a tippel6
jatékos annyi pontot kap, ahdny Ures fagylaltos télcsér maradt a
jétékta’blla’n! A jaték végén az a jatékos nyer, aki a legtobb pontot
szerezte!

Az életkorotok és a jatéktudasotok alapjan 3 kilonbozé jatékmaod
kézul vélaszthattok az aldbbiak kozal:

KONNYU MOD

» Afagylaltkddnak 4 izkorongot kell tartalmaznia, ezeket a 8 izbdl
valasztod ki (8 elérhetd szin).

* Avisszajelzés poziciopontossaggal torténik. Ez azt jelenti, hogy
a szines peckek pozicioja megfelel a hivatkozott iz pozicidjanak,
példaul ha az elsé izkorong csak szinben helyes, és a harmadik
izkorong szinben és pozicidban is helyes, akkor az elsé
Becekhelyre egy bézs pecket, a harmadik pecekhelyre pedig egy

arna pecket kell tenni (2).

* Csak a jatéktabla els6 8, fehér szin(i helyével jatszotok (a barnak
nélkdl), igy ha példdul az 5. probélkozassal fejtik meg a kddot,
akkor a megszerzett pontok szama 3, mert ennyi Ures tolcsér
maradt a tablan.

KOZEPES MOD

o A fagylaltkddnak 3 izkorongot kell tartalmaznia, ezeket csak 6

izb6l valasztod ki (2 szint kivesztek, és csak a maradék 6 szinnel

jatszotok).

e A visszajelzés poziciopontossag nélkl torténik. Ez azt jelenti,

hogy a szines pecek helyzete nem felel meg az adott izkorong

helyzetének, és csak az informaciot adod meg a 3 pecekhely
haszndlataval. Ha Félda’u\ az ellenfél az elsd izt szinben és
helyzetben is eltaldlta, a harmadik izt pedig csak szinben, akkor
egy barna és egy bézs pecket kell elhelyezned a pecekhelyekre
barmilyen sorrendben, fliggetlenil a izkorongok helyzetétdl (3).
* Mind a 10 helyet hasznaljatok a jatéktablan (a fehéreket és a
barnakat is), igy ha példaul a kédot a 4. probalkozasra fejtik meg,
akkor a megszerzett pontok szama 6, mert ennyi Ures tolcsér
maradt a tablan.

NEHEZ MOD
A fagylaltkddnak 4 izkorongbdl kell &linia, ezeket csak 6 izb&l
valasztod ki (2 szint kivesztek, és csak 6 szinnel jatszotok).
e A visszajelzés pozicidpontossag nélkil torténik, ahogyan
fentebb leirtuk.
* Mind a 10 helyet hasznaljatok a jatéktablan (a fehéreket és a
barnakat is).

MEGJEGYZESEK

¢ A nehéz mdd kezdetben megterhel§ lehet, ezért érdemes az
els6 két moddal megismerkedni, miel6tt ttérnétek a nehézre.

* Kezdetben azt javasoljuk, hogy kilénbozé szinl izkorongokbol
allitsatok Ossze a fagylaltkddot, dupla izek haszndlata nélkal.
Némi gyakorlas utan, ha szeretnétek, novelhetitek a nehézséget
azzal, hogy a jaték elején megegyeztek, hogy a dupla izek
érvényesek és a jaték soran haszndlhatok. Azonban egy
fagylaltkddban csak egy iz lehet duplazva, tehdt példaul lehet
piros, rozsaszin, barna, barna, de nem lehet piros, piros, barna,

GELRTO CODE 7



barna (4).
« Ajanlott az izkorongokat mindig egy kupacban, 6sszekeverve az
asztal kozepén tartani. Ha szin szerint csoportositjatok &ket,
akkor a ldthatéan hidnyz6 izkorongok eldrulhatjak a beallitott kod
elemeit.

J6 szérakozast!
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